1/N,, dN, /dsum p_/dn dg [GeV]'

Ratio to ATLAS

T

N
Ul w
ll,Ql)lll,JéEllll_l__l__l___l T 1 |.|/Q|)|4|IEJ | "'J L L B B L B B B

N

=
a1

0.5

[EEY

0.5

-

|
- O--

__.E__

13000 GeV pp

ATLAS

Herwig++ 2.7.1 default

----- A~ Herwig++ Powheg 2.7.1 default

----- v Herwig++ Powheg 2.7.1 LHC-UE-EE-4
Herwig 7.2.1 default

Z (Drell-Yan)
| I I I | I I I

Scalar Z(pT) (ATLAS UE in Z production)

v 3
(\A"}\ _]
= X N
N1 .
Q $A - |
\\L) Jo) %@_@\\@:2 é_—G
\‘®/ - - \ —
- yOR oM e ]
B W A0 T i
i U S i
| YY - \\ T |
| 1 1 1 ..".°l | ..‘5 1 1 | |¢ - - | 1
0 2 4

sum pT/dr] dp[GeV]

Rivet 3.1.10, = 3.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


